FUBAG

BS 6600 DA ES (568282)

L
Honl>/1§p KOQ Kojzia (HOBBIC) HanMEHOBaHHE KOJI-BO
1 TD6120-C03-0100 100021274 KPBIIIKA TOTUTUBHOTO Oaka 1
2 B057890006002570X 100011268-0003 oot M6x25 4
3 91302-9065202500X 100010439-0002 mraiiba ©6.5x2x P25 4
4 TD6100-B98-09011E 100021181-0001 e PHoro 1
5 TD6040-B93-0101 100021153 KpaH TOIUIUBHBIN 1
6 17020-KB01-0000 100005137 3aKUM TOTUIUBHOTO Oaka 1
7 B06177PE10000090X 100011465-0002 raiika M10x1.25 4




8 TD4112-B98-0500 100021004 KPEIJICHHE aMOPTH3AaTOpa 4
9 B06177P108000090X 100011464-0002 raiika ¢uaHuenas M8 6
10 BOS789E010004070X 100011381-0002 Hont M10x1.25%40 4
11 10001-L44-Z2FD025 HE 37€Ch IBUTATEIb l
12 10008-9999-0400 100000657 XOMYT 1
13 TD1461-B98-0000 100018704 3arayLIKa PE3UHOBAS l
14 TD1000-Z8V-0000 100018337 reHepaTop B cOope l
15 B057890005001070X 100011248-0003 Sont M5x10 3
16 TD2511-C01-0000 100020093 KPBILIKA KapTepa l
17 TD1120-B98-0000 100018476 ralika M5 2
18 B000930005000000X 100010885-0004 maiita npyxunHas OS5 2
19 B0009702050000M0X 100010919-0002 waitdbads 2
20 B05789Q005022970E 100011414-0001 Sont M5x229 2
21 08216-9999-0000 100000563 nenta L=85MM l
22 B057890005001470X 100011250-0002 dontr M5x14 9
23 TD1411-B98-0000 100018571 KPOHLITEHH 1
24 TD1421-B98-0000 100018595 LIETOUHBIN y3en l
25 B000960210000000X 100010905-0001 mwaiida P10 1
26 B000930010000000X 100010888-0002 matida npyxunHas @10 l
27 B0O5789E010028070X 100033045-0001 oot M10x1.25%265 l
28 TD4121-C01-0000 100021032 CYNNOPT BO3AYIIHOTO PHIBTPa 1
29 B061770106000090X 100011452-0003 raiika (uanuesas M6 13
30 18066-MB32-0100 100006938 MPOKJIAAKA Ty LIATEN 1
31 B16674A008003270E 100011553-0001 Sonr ¢pnanuespit M8x32 2
32 B000930008000000X 100010887-0004 wafida npysxuHHas O8 2
33 18100-PB52-0600 100006986 TpyOa BbIXJIOMHAS 1
34 18000-L38-3700 100006235 T[JIy IUHTEJb l
35 B057890008001670X 100011311-0005 dontr M8x16 4
36 TD5001-B98-0100 100021070 CYNIOPT [Ty LIUTCIS l
37 TD1431-C05-0200 100018628 PETYISATOP HATIPSHKEHUS l
38 B000930006000000X 100010886-0004 mwalida npyxxuHHas 06 1
39 B0009702060000M0X 100010920-0002 maiida P6 l
40 B057890006019470X 100011304-0002 dont M6x194 4
41 TD1441-B98-0000MW 100018661-0017 KPbIIIKa 1
42 B057890006001270X 100011261-0004 donr M6x12 3




43 TD6007-B98-0000 100021127 3ariylika pe3sHHoOBas 2
44 TD2000-Z20-0600MW 100019218-0001 nasens ynpasieHus 230V/400V l
45 TD7042-C06-0100MW 100021375-0001 MJIACTHHA aKKy MyJIATOpa 1
46 TD7041-C06-0100 100021363 donr 2
47 TD7050-C06-0600 100021414 AKKY MY JIATOP 1
48 85110-MB36-0100 100009970 npoBoa aHOOHBIH | 50mm l
49 85120-MB36-0200 100010002 npoBoOJ uepHblil 280mm l
50 TS2111-C16-0000 100022336 HOJKKa PE3HHOBaA 4
51 B008180006001220X 100010964-0002 Gont M6x12 4
52 TD4113-C03-0000 100021017 DT g o 1
53 TD4208-H10-0000 100021042 3arayuika 4
54 TD4010-L14-5200MW 100020333-0001 pama 694x528x571 l
HaOop 11 TPAHCNOPTUPOBKH
H(:f:p KO/ KoAa (HOBblE) HaUMEHOBaHUE KOJ1-BO

1 B061770108000090H 100011453-0003 rafikaM8 2
2 B061770106000090X 100011452-0003 raiika duaHuesas M6 2
3 B16674A008001670H 100011549-0002 SontT M8x16 2
4 TD4012-H10-0200MW 100020979-0005 0as3a noxaepKKU 1
5 TD4113-B98-0000 100021015 KpernaeHue aMopTu3aTopa 2
6 B057890006001870X 100011265-0003 SontT M6x18 2
7 B008820B 16010000H 100011064-0002 KpeH wthips 16x100 2
8 TD4014-C05-1501 100020705-0001 koneco 10x2.75 2
9 TWCI117-C27-0002 100023414-0001 npy>kuHa B 2
10 B008820B08005500H 100011051-0001 KpeH lThbips %55 2
11 61182-QD03-0000 100009075 noAyLeyka 4
12 TD4019-C03-0000 100020741 3ariylika pe3sHHoOBas 2
13 TWC117-C27-0100 100023415-0001 npy>xuHa B 2
14 TD4011-C03-0901MW 100020959-0002 pPyUKa HOXXHMA 2
15 TD4021-C03-0000 100020826 nopy4eHb 2




FUBAG BS 6600 DA ES (568282)
[ ]
M ‘

H(])y;p KOJL KO/1a (HOBBIE) HaMEHOBaHKE KOJI-BO
1 17020-KB01-0000 100005137 32)KUM TOIJIMBHOTO LIJIAHTA 2
2| T2999904000800165 100017790 e ron e 1
3 24610-PB52-0000 100008165 KPOHILTEHH B cOOpe 1
4 B057890006001270X 100011261-0004 oot M6%12 8
5 24640-PB52-0000 100008428 pbryar 1
6 24602-PB52-0300 100007888 npy>KuHa 1
7 24604-PB52-0000 100007958 CBSI3b JpOCCENbHAs 1
8 24603-MB30-0100 100007927 npy>KuHa 1
9 24606-MB30-0000 100007989 WIMJUHT 1
10 T1105008001400400 100017631 canbHuK O8xD14x4 1
11 91306-90800820X0E 100010518-0001 maiioa O8xd20x0.8 1
12 24605-PB52-0100 100007980 BaJI LIECTEPHU 1
13 T1105035005200700 100017649 canbHUK DP35xDP52x7 2
14 | B057890008003870X 100011323-0001 60T M8%38 7
15 12301-PB52-0000 100003015 KpbILIKa KapTepa (JaeBas) 1




14301-MB32-

16 0000GS 100004129-0003 myn 1
17 24620-PB52-0100 100008305 pplHar nepenad 1
18 90208-PB52-0200 100010160 NpOKJIaaAKa KpbILIKK KapTepa 1
19 91521-08001200000 100010549 wtndt P8x12 2
20 91306-91600324X0E 100010521-0001 maiida ®16x024x0.3 1
21 15100-QC84-0000 100004318 pacripenBan 1
22 92102-000006202P6 100010742 nogwunHuk 6202-P6 2
23 92102-00000006207 100010682 NOAUIMMNHUK 6207 1
24 13300-PB52-0000 100003998 HanaHcup 1
25 13230-QC84-0200 100003914 KOJICHBAJI 1
26 85110-MB36-0000 100009970 NpOBOA aHOAHBIM 1
27 85120-MB36-0000 100010002 NpOBOI KaTOA 1
28 82200-PB56-0000 100009716 cTapTep 2eKTPUUECKUH 1
29 B057890008003570X 100011320-0002 Sont M8x35 2
30 12007-QC84-0200 100002732 Kaprep 1
31 91103-MB30-0000 100010275 oot cnuBHOIt M12x1.5%15 2
32 91302-91202020000 100010467 waiida O©12x2x020 2
33 10008-9999-0100 100000655 XOMYT 1
34 87420-KB01-0000 100010040 JaTYUK mMacia 1
35 81200-PB52-0100 100052137 MOZYJIb 3a’KUTaHHA 1
36 | BO57890006002870X 100011269-0003 dont M6x28 4
37 14314-9999-0600 100004217 raiika G8xd12x8§ 1
38 82108-KB12-4500 100009405 3apsaaKa KaTyLIKd 1
39 82111-QD03-0100 100009463 WTMTWHOEb 1
40 | B0O57870006000870X 100011213-0001 bonr M6x8 1
41 82150-PB58-0000 100009565 MaxXOBHK 1
42 19102-PB52-0300 100007035 BEHTHJISITOP OXJIAXKAEHHS 1
43 21520-PB52-0400 100007562 Halulka cTaprepa 1
44 | BO6177F116000090X 100011460-0001 raiitka M16x1.5 1
45 21500-PB52-D8012A 100029916-0004 CTapTep Py4HOH 1
46 21530-PB52-11002A 100007649-0006 KOPILyC BEHTUJIATOPA 1
47 21510-PB50-00002A 100033253-0001 cTapTep py4HoH 1
48 | B0O57890006001070X 100011260-0005 Bont M6x10 3
49 | B057890006001670X 100011264-0003 donr M6x16 2




50 87400-MB30-0100 100010029 IaTYHK Macia l
51 13220-QD03-0000 100003458 LaTyH |
52 13105-PB52-0000 100003225 rnajew nopuHeBoii 2
53 13101-QC84-0000 100003100 MOPIIEHB l
54 13102-PC83-0000 100003131 naJiel MopIuHs 1
55 1310A-QC84-0000 100003264 KOMILIEKT MOPIIHEBBIX KOJEL l
56 15002-MB30-0000 100004266 TOJIKATEb 2
57 15701-QE88-0100 100004535 KJlanaH BITyCKHOM 1
58 15702-PB50-0000 100004555 KJIaMaH BBIMY CKHOT l
59 15321-PB52-0100 100004400 LaTyH 2
60 91521-12002000000 100010562 wrudt ©12%20 2
61 9022B-QC84-0000 100010226 IIPOKJIAJKA NOMOBKU LIWIMHADPA l
62 18100-PB52-0100 100006986 TpyOa BBIXJIONHASA 1
63 18066-MB30-0100 100006937 MIPOKJIaAKa BBIXJIOMHON TPyOBbI l
64 | B0O61770108000090X 100011422-0004 ralika M8 2
65 91138-KB03-0400 100010389 MINMUIbKa 2
66 81300-KBO1-0000 100009379 CBeya 3a)KUraHust ]
67 1122B-QC84-0100 100002413 ronioska 0J0Ka LUJIHHIPOB 1
68 91127-ND04-0000 100010373 mnuibka M6-8x104 2
69 17107-PB50-0100 100005569 npokJsaaka kapOtoparopa l
70 17112-QB60-0000 100005620 u3oaaTop Kapdoparopa 1
71 17182-QB60-0100 100005936 NpPOKJIagKa kapOropaTopa l
72 17100-QL43-0200 100052093 kapOopaTopa 1
73 | 17183-MB30-0100 100005954 “po““afb"l?ﬂi‘;;iym“om 1
74 12104-MB32-0100 100002860 LIJIAHT l
75 17022-Z6H-0000 100005162 KOJbLO 3allUTHOE l
76 16100-MB32-0000 100004719-0001 ($unbTp BO3OY IIHBIH 1
77 | 16127-MB32-0000 100005014 OCHOBayfﬂiiﬁym“om |
78 | 16101-MB32-0000 100004781 Kapr“g)’EﬂBf:sgm”om 1
79 16105-MB32-0000 100004862-0001 KPBIIIKA BO3IY LTHOTO (PprtbTpa l
80 | BO61770106000090X 100011452-0003 ralika M6 2
81 1122R-QD03-0200 100002470 Oont M10x1.25%87 4
82 15406-MB30-0100 100004474 OCHOBaHUE KOPOMBbICEN l
83 15705-MB30-0000 100004575 NPy KHHA KjanaHa 2




YIUIOTHEHUE BIIY CKHOI'O

84 1572B-MB30-0000 100004602 CTALAHA 1
85 15703-PB50-0000 100004570 NPy KHHA KJ1anaHa 2
36 15700-PB50-0000 100004516 MIPY>KMHA KJanaHa 2
87 15713-MB30-0000 100004589 KPBILLKA BO3AY LIHOTO (punbTpa 2
88 15707-PB50-0000 100004576 KJIaNaH LAHTOBBIH 4
89 15400-MB30-0100 100004426 610K KOopoMbicen 2
90 15415-KB01-0000 100004496 LIMHAIBKA KOPOMBICTIA 2
91 15401-MB30-0000 100004443 KOPOMBICJIO 2
92 15403-KB01-0000 100004457 ralika peryJupoBoyHas 2
93 15414-KB01-0000 100004488 KOHTpraika 2
94 90229-MB30-0000 100010183 NpoKJIaaKa KpbILIKU KnanaHa 1
95 11221-MB30-0100 100002321 KPBILIKA FOJIOBKH LIUJIUHAPOB 1
96 91132-1060-06170X 100031627-0001 winuaska M6x61 1
97 19113-PB50-0000 100007097 KOXKYX 1
98 | B057890006001070X 100011260-0005 Bont M6x10 1




